E=EZER

No.38  [mErRe: meg BEEGELEHITHES . LBD
BHODOFER LG D & LGttt RHREUOAD . LETEE |[HEHR H 531, 438 =Rk 1,194, 507
EEBHEE H2 1 H22 H23 H24 H25 H26 H27 H28 H29
friEE=Z BIiEEZE
LM FR2642818 ~ FH2IE1AE | EmER| TR6E11818 ~ TR21E18318
H26 = s o e G
| . o _ = = |BEAERL, TORKTRER. EREENE
W& |- "R/ FA—LORIE W s B #8%T 5.
EHEEM| FR27E2818 ~ FH28E1AE |EEER| ER2IE11B1E ~ TR28E1 8318
BEAENL, TOHBRTRER. EXEELE
H27 ESIBIGATICEHIZET 5,
RE |- &E/SFO—ILDOERE RE |BL. 21FEEILEIEEZEICONTIE. BO#HBI%E
ZITH 2110, BEHRHELTIEIENRE
LT,
= . IS5 &R HESERU ARE - PEEHE - -
B rray |TUEN 2R | e | Jeten ast
H26| BIESLOEE (&) 30 6 14 10 65
H27| 5IEEXROEME (8) LB EELES R 0
iy o= 3 5EEE
@l FEAAEAE Z 0tk HEE BESE aat
B FARBEEBEA . - ) N & - e
ux1ﬁ% j?%%% ff-‘%% ,]\n'l' %Fﬁ %-F*I:I'ﬁ IJ\n'I'
“OeE LR (M) of 90213 0 114 221
H26lQELIcELELER (FM) o 9 211 0 9, 211 100 195 295 9, 506
Rt U= BhALEE (FR) 4,605 100 195 295 4,901
“OREE LIRS (FF) 0| 9,254 0 174 219
H2 7(06%cELELER (FM) 0| 9,254 0 9, 254 0 0 0 9, 254
S 4F L 1= BN REE (F ) 4,627 0 0 0 4,627

¥1: EHERRUVAQR, FRIEEZREICEL S,

X2 :

EELRETRABEELCHENH 5.

1/2



—

=

. NEBRESE ORI
. TH26FEEBXICLDIER2 TEERAAHAERKR FRTEBEZESHER (A5
26 FEFEEBICKIMEL LT, TR24FEVEEREY
DAERERREII S IOBICHT HTERL2 7TEENHIFEEE30. 8%

(FHTEREXRFEE2698) ERAATULE=D, AERREIX 500
22387T. FH24EEIZHL42. TRHELEoT=,

T2 7EFEEEICL DT 2 8FERAAKR 400 1389 370
FR27TEESERBICLDIAREL LT, TH255EDHTEREY >
DFRERZERREI 7081 THFH2 8FEDHIEEEZ3 1. 6%
(FRETERERRE2538) LRAATWLS,

FR28FENARREEA~IOAEETOFMRR[TIEI178EL- 300 1 269
THY., TH25EENRBARDERZICH LTI 3. 9%FEL>TL s 253
%)O

200 | 189

TR 2 4 FELBFEOHRZIKR
BAMERIZH S.
B, P26 FENDTEREENHEIIXRBELINKENFEEL, Tk

BYORE - MIEENTAHRLI > EBLHEED L THD. to0 1Nk (R
m 115 17
. BPLEEE - SIEEXOERRER
TH26FEEE e 6 & & &
DRFIEEEIZDNT KA A SR G
cHENFO—LOERE (24, 25 2E) v v v v v

QBIEBZEIZTDOVT
11A12&,. 1B534. it65&8%5liELT-,

T2 7 FEEEE

ORFIEEZIZDOINT

- RE/NFO—)LOERE (24, 252H)
QBIEEZEIZDOVT
BEDMBEBEETHIEL =,

. BEOFHEF
T2 6EE, MEELFFHEEYEESNT,
T2 7EEDSELERFIROMUMETERE SN TS,
T2 6EEEXRREROERE LT, Fl2 7EETEREHBRAZER L=,

OFRMEHE BLPHEE oRRAE

2/2




